Example code and demonstration of Nootbook function in the Matlab.
1. Page 88. Flood occurrence problem
x= [ 0 :1:9] %number of floods per year
noc = [0 2 6 7 9 4 1 4 1 0 ] % number of occurences 
n=sum(noc)
px=noc / n %will have the 
bar(x,px, 0)  
Multiplying the element of the vector

xbar=mean(x) %arithmetic mean

Ex= sum(x  .* px) %the term within braces are element wise %multiplication of vectors x and px.

Note: xbar is the arithmetic average of the sample data and Ex is the expected valueor the population mean. 

Variable "data" in the following code contains the timber strength values from Table E.1.1.xls.  In this example, data is obtained by opening the E.1.1.xls file from the workspace of the Matlab.
ts = data(:) ; % will convert the matrix into vector.

ts=ts(ts~=NaN);

ts=ts(isfinite(ts)); %removes NaN values

tssort = sort(ts);

n=length(ts);

%sample statistics

xbar=mean(ts)

vars=var(ts)

sdev=std(ts)

med=median(ts)
a=40/1400
line([0 40],[0 a])

line([40 70],[a,0])  
Constructing the cummulative distribution for the timber strength problem
x=[1:1:70];

Fx1=(x(1:40) .^2) / 2800;

Fx2=(x(41:70)*70/1050) - (x(41:70).^2/2100)-1.34;

FX =[ Fx1 Fx2];

plot(x,FX)  
